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1200´ = 

540´ = 

a) b)

a) b)

Převeď na minuty:

540´ = 

180´ = 

300´ = 

360´ = 

Převody úhlových jednotek

Převeď na minuty:

a) b)

5° = 

7° = 

7° = 

14° = 

81° = 

5° = 

40° = 

Převeď na stupně:

6° = 

1° = 

3° = 

180´ = 

2400´ = 

15°37´ = 

36°16´ = 

62°17´ = 

32°34´ = 

180´ = 

2700´ = 

2°24´ = 

31°37´ = 

a) b)

8°31´ = 

9°21´ = 

4°02´ = 

6°05´ = 

Převeď na stupně a minuty:

576´ = 

599´ = 

579´ = 

324´ = 

186´ = 

1942´ = 

802´ = 

494´ = 

4378´ = 

a)  na minuty b)  na stupně a minuty

852´ = 

63°37´ = 

22°39´ = 

1113´ = 

2531´ = 

Převeď:

522´ = 

2232´ = 

615´ = 

91°52´ = 

73°21´ = 

17°44´ = 


